LAW OF DIMINISHING MARGINAL UTILITY
The change in the total utility resulting from one unit change in the
consumption of a commodity per unit of time is called marginal utility. The
marginal utility of a commodily diminishes as the consumer gets larger

quantities of it.

According to Alfred Marshall
“The additional benefits which a person derives from an increase of his
stock of a thing diminishes with even ncrease In the stock that he

already has"

Definition
"Other things remaining same whern a person takes successive units of a
commaodity or service, the marginal utilty giminishes constantiyv”
Assumptions:
These are the assumptions of the Law of diminishing Marginal Utility.

1. Cardinal measurement
The utility is measurable and a person can express the utility derived

from a commodity in quantitative terms such as 2 ulil, 4 util, 7 util ete.

2. Rationality
A rational consumer aims at the maximization of his utility by

consuming successive units of a commodity.,

3. Constant marginal utility of money
It is a necessary assumption that a standard unit of measurement is

money and its marginal utility is assumed to be constant

4. Continuous use
A commodity is being taken continuausly. Any gap between the

consumption of a commodity should be suitable
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In the figure, the marginal utility of different glasses of water is measured
on Y-axis and the units (glasses of water) of commodily are measured on
X-mxis. With the help of schedule, the points A B, C. D E F and G are
derived by the different combinations of the uwunits of the commodity
(glasses of water) and the marginal utiity gamed by different units of
commodity By joining these points, we get the marginal utility curve,
whleh has downward with negative slope and it intersects the X-axis at the
t of 6th unit of the commodily At this point "F" the marginal utility
: es rero. When the MU curve goes beyond this saturation point, the
lb.cornu negative., So there is an inverse functional relationship
: the wunits of a commodily and the marginal utility of that

M. conclude that when the MU decreases, the TU increases at
5 } rate. When the MU is zero, The TU is maximum and when the

es negative, the TU decreases.
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he household rmaximizing the utility will so allocate the expenditure
a.m:? commodities that the utility of the last penny spent on each item

In other words,

YA consumer spends his income or money on different goods in such a
way that the marginal utilities of different goods are equal In this way., he
gets maximurm total utility

Deviating from this law a rational consumer can not get maximum total

ult_llly Therefore, he is bound to spend his Iimited rescources by applying
this law to maximize s total utiity

The assumptions of thus law
1. Rationality
The consumer s rational He

Aare as pelow

aims at maxxirmization of hus total utility and
nothung else

2. Limited income
The money income s given (e Y, which a consumer wanits to spend on
different goods at particular ime

3. Application of law of diminishing MU
It is assumed that the law of diminishing marginal utility is applicable on
the commodities consumed by the consumer

4. Substitution of goods

It is assumed that goods are naturally substitutes of each other

The
result of the substitution will be that the MU of one commodity will fall and
that of another commoaodity will nse

5 Awareness of market.

It is assumed that consumer has much awareness of market
6. Divisibility

It is assumed that goods which are substitutes of each other are divisible
iNnto small units.
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In the ﬁgure units of money are measured on X- axls and marginal utility
on Y-axis. With the help of table. the marginal utility curves of good "A"
and good "B" are drawn When the marginal utility derived from the
consumption of good "A" and good "B" i1s equal to 6 units which is shown
by the points "a" and "b", the consumer adopts the law of equi-marginal
utility and gets maximum TU as shown in diagram (1) and diagram (2)
respectively

Now we assume that consumer spends Rs 4 00 on good ‘A" and spends
Rs.1.00 on good 'B'. Point 'a’ shifts to a” and point ‘b’ shifts to 'b” in this
Way consumer gains total utility equal to (aa'c’c) shaded area in diagram
(1) and have a loss of TU equal to (b'bdd’) shaded area in diagram (2)

By comparing the loss of TU and gain of TU, the loss is greater than the
gain equal to the double shaded area of 'befg’ The consumer is not
deriving maximum satisfaction except the combination of expenditure of
Rs 3 00 on good "A" and Rs 2 00 on good "B" By so planning of his
expenditure that the marginal utility of a rupee spent on one commodity is
the same as the marginal utility of a rupee spent on another commodity,
he gets maximum satisfaction




